



# Answers to Fundamental Algebra

1. (a)  $\frac{5y}{z} - 4x$   
(b)  $a^2 + mn$

2.  $y^2 - 3z + \frac{3}{x} = (-4)^2 - 3(-2) + \frac{3}{6}$   
 $= 16 + 6 + \frac{1}{2}$   
 $= 22\frac{1}{2}$

3.  $\frac{-x-3}{x-3} = \frac{-(-5)-3}{-5-3}$   
 $= \frac{5-3}{-8}$   
 $= -\frac{2}{8}$   
 $= -\frac{1}{4}$

4.  $X = \frac{d+3e}{4de+fg}$   
 $= \frac{9+3(-2)}{4(9)(-2)+8(3)}$   
 $= \frac{9-6}{-72+24}$   
 $= \frac{3}{-48}$   
 $= -\frac{1}{16}$

Adapted:

maths@mavis Lower Secondary Algebra

© Singapore Asia Publishers Pte Ltd & Mavis Tutorial Centre.

All rights reserved.

Reproducible for home/classroom use only.

STRICTLY NOT FOR SALE.

Look for other useful resources: [www.sagrp.com](http://www.sagrp.com)